Skills Required....

-

Midterm Study Guide

> Be able to fill in the blank for Diamond Problems...

I.

for multiple representations of linear fumctions.
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> Be able to identify and name the y-intercept (startin

2. For each linear model, write the y-intercept and the slope.

a.

y=2x+9 b.
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> Be able to evaluate an expression for a given value...
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> Be able to solve a for the missing values in an area model...

4. Find the perimeter of the entire rectangle shown below (that is, the outside boundary of the figure).

Notice that the areas of two of the parts have been labeled inside the rectangle. Also find the total area.
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> Be able to find the area and perimeter of a figure...

5. Write an expression that represents the perimeter and the area of the shape built with algebra
tiles below. '
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Find the perimeter if x = 3:

»> Be able fo analyze a pattern...

6. Examine the tile pattem... - - -
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a. Sketch Figures 0,4 and 5.

b. Write a rule for the pattern. ' ﬁ; o
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c. Use tEe rule to find how many tiles are in the 21st figure.
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> Be able to simplify exponential terms.
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> Be able to simﬁlify polynomial expressions...
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> Be able to determine if a point lies on a given line ...

9. Which point lies on both y + 8 £ 2y And y=-3x +7?

a. (1,2) b. (2, 6) d 4,14) e (3,10)

> Be able to rewrite each of these products as a sum.

10. a. 6x(2x+y—5) b. (2 ~ 1D + 4)
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> Be able to determine to solve an equation for x & check to see your solution is correct.

11. Solve the equations below for x and check your solutions.

AN <
a. 3 +x=-2x+6 b. 2x+ D+ 3=3(x—-1) . C —4x=2x+9
. *lx 3 Ltz t3 =9x -| B il
'3 T3ekx - 3 Iue§ = 3x-l —éx -7
G < =
=1 5= )( l

" X:“l’?_’_

oy | e

d -10+t5x=7Tx—4 e 28— 6x+4=3(10-x)

-

> Knoﬂent representations ..

12. Examine the graph below.
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a. Use the graph to complete the table:

IN (x) = O I > 3
OUT () 3t V3|5

b. Use the graph to find the rule: ~y = Z( - /




> Be able to find the slope and equation of a line given two points.’
Rate of Growth
> SLOPE > Change > Factor >

 RISE Ay -
Slope=—"--> X3 270
RUN Ax X=Xy

13. Find the slg_)p'e of the line passing through each pair of points below.

A (1, and(4,-1) B. (55,67) and (50,68) C. (-6, 8) and (-8, 5)
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d. Write the equation of the line that goes through the point @ and (4,-1).

Remember y = mx + b
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> Be able to write the rules for linear functions ...

14, Two caterpillars are crawling toward each other on the stem of a tomato plant. The big
caterpiliar started at a height of 36 inches off the ground and is crawling down the stem at a rate
of four inches per hour. The little caterpillar.is crawling up from 1 inch off the ground at a rate
of three inches per hour.

a. Write two equations. One for each caterpillar.
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b. When will the two caterpiilar’s meet?
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> Be able to rewrite a linear equation from standard form to y = mx + b form.

15. For each equation below, solve for y.

a. 6x—2y=4 ~Z :*%L

- ~bv —*
e
’Ji = ~2x+8

b. 6x+3y=4x—2y+8§
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c. Find the slope and y-intercepts for the equations in parts (a) and

a S]ofnc = 3, y-mhrcaf:f-°?_ , 5 5/1700 "5%, )/-ln'hme_{:f - -g'-

» Be able to determine H whether or not a relation is a function and write the domain
and range. ’

16. Write domain and range of each relationship below. Then state whether or not the

relationship is also a function.
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